Retractable Locating Pin

SZV.140Z

Spare Parts page 1
Pos. Part-No. Quantity |Description Type Flag'

10 243078 1.00 | housing SZV.140Z
20 243079 1.00 | side plate SzZV.140Z
30 244042 1.00 | push rod SZV.1 40 AO1

253938 1.00 | push rod SZV.1 40 A02

235980 1.00 | push rod SZV.1 40 A12-A32
40 235979 1.00 | bolt SZV 40 R
50 235977 1.00 | bolt SZV 40 R
60 236285 1.00 [ fork shaped piece SZV 40
70 236284 1.00 | piston rod SZV 40
80 238974 1.00 | angle lever SZV40Z
90 236283 1.00 | strap SZV 40 R
100 242727 1.00 | flange SZV.140
110 238978 1.00 | bearing shaft SZV40Z R
120 236312 1.00 | bolt SZV 40 R
130 219630 2.00 | supporting roller complete K 40.1 R
160 238016 1.00 | spacer tube SZV 40
170 203419 2.00 | guide bush SZK 40/63 A02 R
190 200144 4.00 | hex. socket head cap screw |[M5x 12 DIN 912
200 201227 2.00 | parallel pin 6,0m6 x 16 DIN 6325 R
210 200576 1.00 | set screw M3 x 6 DIN914
220 235974 1.00 | strap SZV 40 R
230 201294 4.00 | retaining rings for shafts A12,0 x 1,00 DIN 471 R
240 201582 2.00 | bush 12,0/14 x 12,0 DIN 17662 R
270 228594 1.00 | set screw M3 x 5 DIN 916 R
280 210314 1.00 | piston seal J16/0 25,0 x 2,8 RD
290 214880 1.00 | piston complete K40 RD
300 219492 1.00 | cover K 40.1
310 200685 1.00 | hexagon thin nut M 10 DIN 439
320 231993 1.00 | o-ring 35,00 x 2,50 RD
360 206372 2.00 | supporting plate K 40.1 R
370 239711 2.00 | hex. socket head cap screw |M 3 x 14 DIN 912
380 239441 1.00 | parallel pin 3,0m6 x 16 DIN 6325 R
390 238013 1.00 | bolt SZV 40 R
395 234746 1.00 | scraper 25/35,0x 10,00 RD
400 205324 2.00 | bush K 40.1 R
410 238977 1.00 | bolt SzZV40Z R
420 238973 2.00 | strap SZV 407
430 238975 2.00 | roller SZV 407 R
440 238976 1.00 | bush SzZV40Z R
450 207656 1.00 | handle rod MK 63 S
460 216955 1.00 | carrier complete K 50, 63 Z
470 201510 1.00 | ball
480 200145 2.00 | hex. socket head cap screw |[M5x 16 DIN 912
490 242726 1.00 | lid SzZV.140
500 200144 2.00 | hex. socket head cap screw |M5x 12 DIN 912
510 201761 1.00 | o-ring 38,00 x 2,00 RD
520 201581 2.00 | bush 12,0/14 x 10,0 DIN 17662 R
530 246563 1.00 | bush SZV.1402Z R

' R = included with repair kit, D = included with seal kit . TU NKE Rs
Ingenuity in series.

Subject to technical modifications.

27.07.2016

TUNKERS® Maschinenbau GmbH Am Rosenkothen 8 » D-40880 Ratingen

Tel. 02102 4517-0 » Fax 02102 445808 Internet www.tuenkers.de



Retractable Locating Pin SZV.140Z

spare parts sets / accessories page 2
Pos. Part-No. Quantity | Description Type
245724 1.00 | repair kit SZV 401 Z
245775 1.00 | seal kit SZV 401 Z
330 282503 1.00 | limit switch set complete SZV 40 T12
. TUNKERS
Ingenuity in series.
Subject to technical modifications. 27.07.2016

TUNKERS® Maschinenbau GmbH Am Rosenkothen 8 « D-40880 Ratingen Tel. 02102 4517-0 « Fax 02102 445808 Internet www.tuenkers.de



Retractable Locating Pin

SZV.140Z

30 —

Subject to technical modifications.

A

\

\\
@

395 ,

170 —— @
N~

160 @
=

YO (A

. TUNKERS

Ingenuity in series.
27.07.2016

TUNKERS® Maschinenbau GmbH Am Rosenkothen 8 » D-40880 Ratingen

Tel. 02102 4517-0 » Fax 02102 445808 Internet www.tuenkers.de



